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450 |GIST gene mutation’ S AT HmA TR 2 E 12,000
451 |PML-RARareal-time PCR% ¥ ¥}t ¢ & Hf & A F1T £ 3,000
452 |FIP1L1-PDGFRoRT-PCR i % Hrf it v 5 Tk 5 3 2 F1H Rl 5,500
453 | ¢ # AR W B 3,600
454 | kg % 90
455 | w4 R B-P ¥ 15,432
456 |t kAR < &% 100
457 |B24 ¢ <L %% 100
458 [P LB R(RAFFORI MBI E kA MBHEY ) 2,000
459 |if 354 k(B 2 ) 500
460 |8 d Wi 3 5,000
461 |5 2% ¢ Wi E 4,000
462 | B L& X kLA B L} 5,600
463 |2 # 2 X kD WA R 3,800
464 |FIFL e > e AT RET B 12,000
465 |[# A gl L e ® 25 B ATk * 3 3,000
466 |# 2% o EA AR AL B (L FF) 2,000
467 |#r %W R Mick/AE R (P FF) 3,000
468 |#% @ A i BioR AL F (X #F) 5,000
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469 [ RA IV BEE F (LR -FH R *0.1ml) 300
470 |# 2% d SRA i Bl F (%R * -4 i * 0.2ml) 500
AT |7 o 3RA R AE T (LN *-FH i *0.3ml) 1,000
472 |FDG PET-CT for research(PET) 16,000
473 |FDOPA PET-CT for research(PET) 20,000
474 |FDG PET-WB 20,000
475 |FDG PET-CT for preliminary study(PET) 16,000
AT6 |4 -184 4t 3 3 & 16,360
AT7 18-89F WA R R ic R 76,000
A78 | HE 3/ F T o % (3R) 200
479 AR E 3/ FRGEEY) 500
480 |42-00FHMEHMP KMo R iTHFH 40,000
481 |40-00FH PP o F 4165 HiFH 15,000
482 | [F-18] FDGE + ¥ & 9_ v 38,000
483 | [F-18) FDGr + 2 ¥ & A 26,500
484 | [F-18) FDOPAR 3 i ¥ ﬁﬁ 2P 36,500
485 | [F-18) FDOPAR® 3 i ¥4 & & 2% 26,500
486 " g + BTk W h TRH iE %R 26,500
487 [3DEEH&EF A (X F 2 ) 1,500
488 |P FFRZELBRF(FFELTR) 280
489 ¥ ¥&E %3 (FEER) 30
490 | & (FEER) 200
491 |§ o r Ak % 25
492 |°® Bk % 50
493 ¢ FishEFE(X)FHE 250
494 |¢ BishHEC ) HR 200
495 (¢ FishEFE(l)EHE 150
496 ¢ FHHF 100
497 |¥ WR HF (R p A B H) 70
498 |? HERR(MN L& E- Hi) 100
499 [¢ F A sam ¥ 110
500 |= kX > EcBEALE ®.3 430
501 |CGMS:# = &% BI(p F) 4,000
502 [RTHL S TRAk AR S R R 100
503 |#& 4 JR#-F 150
504 |5 4 Atk B (3RS B L) 7,000
505 |FIp BHgF * 9,140
506 |1 B ek idmt * (FH2 F %) 1,000
507 [& 7 § SRR 2,500
508 |& A * % HRER 2,500
509 |5 f F AR 550
510 |% % &k R:E R 5,330
S11 (R R g # Fresyjr 15,000
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512 |[wEFHFL-kFV14¥ 500
513 | A 484 B BEHp) 500
514 | %] ik Individuial counseling 600
515 | %] & ¥ 475 % Individual supportive psychotherapy 1,000
516 |28 % 4 i (9 +) 176
SVEGEY <& & 8,000
518 | IR fFd 33 (s F 4 24) 250
519 |# & % (UM # p B R3E) 180
520 |23 F (PUMA P FRRER * )(kw) 300
521 (B - e R L 2,400
522 | %+ 3 mF-BRT e ki A 6,000
523 |BRASHE R P-HEETFERF 1,200
524 Mok F-HRTrEE TR 2,000
525 |wIBgrgd - B g p i A 1,200
526 W HETHFABEI PR LT 1,600
527 |#A# £ 458 in R 2,500
528 |HA FHEINRAEFH-LRRY 100
529 | PR AE PRI % 640
530 | F (UMM AL FRER )T R) 200
531 |HAH Fr (%2 %) 14,000
532 |[HH FEZ(MFERE) 16,000
533 |p B A2 F (3 8ikp) 1,169
534 |pP R ARmEdE R (- 137 )(100~/p%) 100
535 |p B & X yeprdc ¥ (3~ X i P )(150~/p¥) 150
536 |d=% & 5 B 40
537 |EX AP & 100
538 |4=% A = 8L 40
539 =% A S Bhtis X B ¢ B 140
540 =% B Y B+iEX B = 8 140
541 P ERRA(EER) 2,234
542 %% o 21 & 200
543 |#F7R B oo Rt $12 A E R4k 1,000
544 | & Mteid EXKRT R Y ioRk 1,298
545 % M 4cid BXHAH T 7k % 1,298
546 |B M 4vig BE e bt (i H) 15,000
547 |3 s 4vid B4 v s 5% (G 52) 20,000
548 |#r7 ¥ % BAE 250
549 ieR 2 R EW # 400
550 |& FA$ATZ 1 1,000
551 |#ci=; B4R 250
552 |1eif 300
553 |k B2 % 250
554 |35k B2 & * 200
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555 |38 r = 200
556 |4 kb pE7 ioR 30,000
557 | A = st H 3,000
558 |ickif 2 B4 2,000
559 [iT#ic R EEHH 3,000
560 |# 4364 % pF 300
561 |fk 8 A 2,000
562 |Urecholine Test 540
563 |Rapid CMG 540
564 |"HR R E 540
565 |& flgic® 300
566 |f#4 & &% 1,000
567 |¥ & Ry ¥ 3 (PFE) 1,800
568 |PFE+# 383w 4 2,400
569 |PFE+# &% {2 § (> & ) 6,000
570 |PFE+# & 18 $] (& B IE 5) 9,000
571 | Ecidp i H AR B 800
572 |% L EBERF 33,055
573 [A T KL E 8 » jiF 50,000
574 |% %5 64 % o L EEWF 4 150,000
575 |48 Stk A iV iFe s 150,000
576 2T HRFvRiFEX 75,000
577 Rk (A) 100
578 |£ ¢ a3 ¥ > ;5% (- %) 1,000
579 (%6 43 HrinR (= % 2,000
580 |TAA- #<lcm 100
581 |TAA- B<lcm(* 3 - ) 50
582 |45 ® E AT 390
583 |7k is % (B) 200
584 |% ERik § 1,500
585 | % medk § 1,500
586 |%mdkR-£ A X A% % 1,500
587 | A J§ & ¥ % & iR 1,000
588 (A ¥ #k% 150
589 | g -k ic% AR 150
590 |4 & #E{s A 150
591 (A R Rk M 100
592 |# §PH& 150
503 A K& 150
594 A ke d 150
595 |8 &5 i e i 1,000
596 | % # i & F R 1,000
597 [z 46 23 6,000
508 |+ E¥K EE 9,000
599 |- Lok (B H FHFEAD) 200
600 [>T % & 500
601 |7 #2i3 25 < p(3F) 250
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3 =% L #

602 & 4% = #{OGS} ] 20,000
603 |7 % ¥R £ it 1,500
604 & % = p-{OGS}¢ 30,000
605 |7 % #fem £ et 2,000
606 [ B = p-{OGS}+ 40,000
607 |7 % #49 % # #(B %) 4,000
608 |7 % #49 % # #(1/33F) 6,000
609 |7 #4545 %) 6,000
610 |7 ¥4 & = #e(1/33F) 8,000
611 |r 923 e jp £ 4 2,000
612 |7 % A ick 2,500
613 |7 % A~ B iR A 2,500
614 |9 2 mv i & 500
615 |7 ¥ ik HE 250
616 |7 Fzizdlk 3 200
617 |9 Fzairilie & i 100
618 |7 % w8 23 4,500
619 £+ BEH 1,500
620 |er 500
621 |er it 250
622 |43 4c 35 47 1,500
623 |42 8 e 3 47 500
624 |- 4 & BiEg 7 2,000
625 |1 * & Fibigm 5,000
626 |1 * & b 2,000
627 |& % 11,000
628 | £ mH 4,000
629 |- & B 7 6,500
630 |- & BLFHL 3,500
631 | £ BE 7 8,500
632 |% £ BL T HE 4,500
633 B £ BEL7 13,000
634 |RE 2 BLFHE 6,000
635 |¥ pl¥ s & 3,000
636 |5 ¥R &S 1,500
637 |EpRl$aE S 6,000
638 |FiRl$FMES M 3,000
639 |H plézét & BeEd & 20,000
640 |¥ pisest 2 B RS HA 3,000
641 |BEipldiss & BiEE & 4,000
642 |fERiss 2 B R GHAE 6,000
643 |E B> K& 30,000
644 |Egr2E %R 9,000
645 |FERI2 K& 40,000
646 |EERI2 &S HH 12,000
647 | ¥ Biems & & 10,000
648 | ¥ FTem & & M 5,000
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649 [T REFES 20,000
650 |BESETRA & & HHL 10,000
651 |5 11§ 7 % 4,000
652 |5 11§ 7 it E 6,000
653 | > NEB A 10,000
654 |# > AEE RS HR 10,000
655 |BE&S(ZRVEER 15,000
656 |H& B 1,000
657 |&& BRI 250
658 |& B A 500
659 |& A BB AT H K 250
660 |#f7 s ¥ pF % 1,000
661 |#t7q ¥ 544 4 250
662 |57 % Hhiw = 2,000
663 |47 # &5 HE 500
664 |57 # &hin = 2,500
665 |57 # 45k 600
666 |5+ 7 % 7 £ R4 2,000
667 |1 sidthl 200
668 |1+ kiRl 200
669 |5 % KB adEE 3,000
670 |¥ i K aiE BHE 1,000
671 | Rl K aF = 6,000
672 |5 RIZ M3 FiH 1,500
673 |23 mi>H & 6,000
674 |s2d M & & HHP 1,500
675 ;.eta 1.3 6,000
676 |4 & ¥ 114 1,500
677 |iEd- G %8 3,000
678 |iEd G £ E H 3,000
679 ;i_ wg; B 1,500
680 | € mGr £E HH 1,500
68l A2 FHKE 90,000
682 | B2 ¥ ZEEE H# 27,500
683 |EB 2 ¥ LR 50,000
684 |Es2FZ LS il 15,000
685 |FFIMFZLEZ HEH 3 9,000
686 |FEIRFALKE 2 e § HA 4,500
687 A3 %E 10,000
688 IR E I EE HH 4,500
689 | kHHKAZ ‘M? 6,000
690 |Br ¥R AZ BEHE 1,000
691 |# it BEH LT ;-,5 20,000
692 |# v B ERLE FHH 7,500
693 |5 & 3§ % = 10,000
694 (T a 3 X AR 4,500
695 |BmGr * EFX RS gt 2,000
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= i ¥
696 |p#ig* HFBAE 2 1 —
697 |XE & o
698 | X% 3 & o
699 ¥ #HHr 7 * TG00
700 [¥ HpE fHE 7500
01 Bz 1,500
702 |H = oo
703 | %3 H (i & AT =00
704 [r p & HAE P 0
705 [B& %k E —
706 | &7 % E 250
707 |gmags A HR o
708 |§ &7 (h £ BEEET 57 § &) o
709 |z &5 HHE 2500
710 (& WA 3,000
711 | & &R+ 1,000
712 |£ #wmE L v o
713 |[£ E£m g 200
714 |33 K& & 3 #5(B) o0
Ty =) 35,000
716 |21 9 {9 2000
717 |7 & F s =
718 % = (2 %) 500
719 |%* BRi4 ¥ =
720 | v iR 0
721 |7 &9 pF 000
722 |7 38T jie (B 3R) —
723 |9 REZIF(2T) o
724 |7 & 4o 3 2% (HE) -
725 |9 % pdF S o0
726 |2v 7 ﬁv@‘,'a 100
727 |38 4e 58 47 oo
728 [¥ £ K45t 9 % B 13,000
e prapint 11,000
730 | A1 9 A4 A 75000
731 (A1 9 1”AR4 B o000
732 B s GRS 5 000
T T e 10,000
734 | & & Gl ITHE A 5000
735 | FEHMEFEL LY S00
736 |2 £ R K (& X) =
737 | ERKE (B - &) o
738 |57 %42 4p 1,000
Tk e A 1,000
740 %A B 6,000
41 |TeEFES 2000
742 1B B 25,000
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743 |23 75 AR % 500
744 |ERIAZF 3,000
745 |RFE 2 (%) 10,000
746 | FE A W(P) 8,000
47T R FE2() 6,000
748 |E 4 R T4 1,500
749 |§ ¥ A58 3 (A 5,000
750 | & 4:5%53% 3 #(B) 20,000
751 |4 4 4% % /0.5CC 5,000
752 | % i £ & (HA) 5,000
753 | % e A5 -] ¥ 1/2arch 2,000
754 |% Fe a5 4 *v1/2arch 5,000
755 |& H F # B 20,000
756 |7 = ycHA% # M-OG75 2,205
757 |7 = cHA% £ M-DO15 3,465
758 |7 % %96 (2T) 18,000
759 |7 % $96 (2v)*2E 1 18,000
760 |7 &% £6 (2T)AEHE L 18,000
761 [ w4E% 7,500
762 |LaBr-REEWE 7,500
763 [ in b - & 3,000
764 |k 15 gr-- R Ut 2,500
765 |p WE B -HIET 5,000
766 |p WEBEAF I - Wiz 10,000
767 |BE sk EAER T 3 (H)A 3,000
768 [1REicR KGR ¥ (H)B 5,000
769 [RE sk EEARER* F(H)C 6,000
770 25w 18,000
771 |7 %3 & i 5,000
772 |7 % pE 2 £ 45()) 5,000
773 |7 % i 4 X pe(¢) 10,000
774 (7 % B E 4 (1) 15,000
775 |7 R pEskick ¥ -MBEAE R 5,000
776 |7 ¥ HEHRIRE - HEAL Y 5,000
V77 |7 2 mBRick S HEAL R 5,000
778 |} A T H-2EAE BT (ERAFCARI00E £ L £ E BRI At E) 20,000
779 | P A TH-INAEH BRI (CEAFRI00E X A £ BEI A4 FE) 15,000
780 (2T B BT - BE THET (102# ¢ Mt r AP F) 40,000
781 |TEHATHEL e R ET (1024£ ¥ My r X A et d) 20,000

IHE TR ERFERT o H TR )WL EBFERT

782 (102 ¥ Mg » & A4Fesztd) 35,000
783 | B2 TENA EH BT (1024 ¢ M x E APt d) 30,000
784 |} BE(RX T EE)MA SR T (1024 ¢ Mt X A F) 15,000
785 |7 ugr & it 250
786 |7 #7227 vk it kL 1,500
787 & # B 2 A5 pF(13% 1 )R 500
788 | B %k & K 100
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789 |sgagan £ p(H 34 i) 1,800
790 |FE 5% £ pe( B st ) 3,133
791 | &% Xylocaine i85 200
792 |WEERER 800
793 |# B3R 47
794 KA FAS T 50
795 |k 54 1,000
796 |p # i KPR F B (AABR) 900
797 |EEEAVFTS RS R 600
798 |PRKE [ F 54 & Wy 5k £ jiF 23,000
799 |PRKEF: § 8¢ & Wy 3k £ jiF 36,000
800 [LASIKY pe &k 3] F &4 7 w0 A 25,000
801 [LASIKEER: KK 2 2] § &4 7 503 5 40,000
802 |Hep % 100
803 |p% 3wt 6¢ 1,000
804 |=k & pedk 200
805 | & " 48 45 B jiF 1,800
806 |4 # & 80
807 |¥ kR s ¥R LR Y 200
808 |~ p R(FER) 25,000
809 |gEm & () 20,000
810 (£ x ppps™ L(¥R) 10,000
811 |4 x BB~ L(FR) 20,000
812 |gLTZ ¥ P i1 &FAvastin 6,000
813 |Rla 2 600
814 |p % F(FAL) 300
815 |¥ ik 4,000
816 [P &% * 56,000
817 |By sk = e ¥ & 1,000
818 |+ 2 35 W)-%l e % 286
819 [Eir it -t 456
820 [tz £ 3 -#lic% 730
821 Wiz -4lics 728
822 |t + 2-Hiv¥ 866
823 it 23 -4l it % 810
824 |sH 4% 2 mrg (5 %rht)-8iv% 756
825 |2 %t (* § %) Hit? 365
826 [3H it 2 13 ex-#l1c% 160
827 |l TAN)- §-HiE} 2,500
828 |BER 4B (F 2A)- &-Hi% 200
829 |p st Aigm ¥ -Hiv% 1,150
830 |"xEREEHR A 180
831 [#EisRi=R 450
832 |if & Wivisscy -
833 |[E AR HH AT R 500
834 BB WU FUHRL T (HE) 200
835 |¥:# Hli¥i Wi BeL 17§ GESR) 500
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836 |RER Py (UF L) 800
837 |? B 1 s 4 R 4,000
838 |AFe1 TR 4 TR 6,000
839 |#E FHTR 1,500
840 st g *Hgnsp ¥ WLIE R 800
841 |(f-&# XML 5 2 RBAEKXSTF ¥ 1,000
842 |(F EMRATH )L If & 2 RHRBK W TR § 1,200
843 |(EAR )L FH % 2 RIBARXWTF § 1,500
844 [(E ¥ R)B R EZ ERBEENITRTY 2,000
845 |3 F R Y B HFE-¢ e > ¥ 100
846 |B R R T p HIE-¢ M r 2 20
847 |B PR Fm Y B HEE-— K 300
848 |B pp R 3 p HEE-— & 200
849 | ER PR Y 300
850 |¥ R EFE SR Y 600
851 iR EF IR T 800
852 [FAREFp FHFEish-H ik 200
853 |k Ep(FRiFEERET) 3,000
854 |MEFF(FHFEFTETEY) 6,000
855 | FEp(FRFEERET) 8,000
856 [FREEXFPF(FRiETEREY) 6,000
857 |-} *10cm4FRE X F Ep(F R FFTERY) 10,000
858 [+ *+10cm4F BE & —"'-' FEE(FREFTERTY) 14,000
859 |Epidural block(i" #) 6,000
860 [Selective nerve block(# #*) 6,000
861 [Discography(# #*) 6,000
862 [Nucleoplasty(# #*) 6,000
863 |7 4 P ARGLMENR 18 B 4 7 %% (PELD) £ cpti § (2 #4) 57,000
864 |5 A P ARBENRIEF & 7% (PELD) = ey (& F &) 32,000
865 #ﬁ/@l‘l% (Embryo Biopsy,Embryo Culture,ICSI) 1,000
866 [Epidural block(e 2 )(F #) 6,000
867 |Selective nerve block( e & )(¥ $) 6,000
868 [Discography(2)(¥ $) 6,000
869 [#EHE2 - 4 5(7) 50,000
870 [#EHEz2Z = A 5(7) 40,000
871 [#EE2 T A 5(7) 32,000
872 [#E2 - 2 5(P) 1,200
873 [#m2 - 4 5(P) 1,200
874 [#m2 %F LA 5(P) 1,200
875 |femise i@ B L p 50
876 |p FRE(" )-RTEP * & IR 20,000
877 |p FRFE(® )27 & KIRIE 24,000
878 |p FR#E(P) 1,200
879 |iepFE (A R4 FFIL14 ) pE3E2 0 A RIS 1 p > {I5X 1 3 100
880 |p PRERNMF-FEHBEP 2 RBERB-TEF RL A 6,500
88l |P FRREIMF -2V RB-FEF F 53 8,000
882 |p RREIEF (P )R- EH % 5 4 500
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883 |p FRRE(P )R 1,200
884 | wit? % 200
885 |Beiky (B =) 100
886 |k R EE X B #2e4) 150
887 |skife § (e iki®) 300
888 |%n s A v Rl E 50
889 |+ 2P MR E-T b 230
890 (142 R BI%-E = 170
891 |imip % 100
892 |#74 ot (fFd oAt et—— &) 800
893 [#74 stk (W2 BHB—RER) 400
894 (374 oty (# BLabrriEed) 800
895 [#74 T —ME g 200
896 |#72 IR Y 80
897 |** % g3k FHiLR Bl T 1,200
898 |4+ Rl 500
899 |- %2 % 2, W) 1,600
900 |- %2 % #E:E v 8 W) 800
01 [r?HERE 560
902 | H K E 560
903 |44l M 3 560
904 |"3 K d 560
005 |"%4! H B 560
906 |4 M E 560
007 i B i 560
908 |¥ %A i h 560
909 |gE%H KA 800
910 (2 LH M A 1,600
911 |a A M 2 800
912 | E tli i d 400
913 |3ep = 8 1,200
014 |374 2 HEH & 300
015 |2 o HEH E 600
016 w232 L EW HERE 600
017 (A HHE# ok (fF) 250
918 |4t 37 (& 4) 300
919 |#F i 326 (& X\ &1 7) 500
920 |Hras =R (= Ek ) 600
921 |#F i Lr—(‘%rﬁ) 600
922 |*at = 3# W 600
923 57k 3 (G330 f %) 80
924 (# ﬁ'zﬁ VIS % pE (3’)5 %,E) 500
925 |z 3 p-0d B HR 900
926 |wogARd k-0 R R B 1,500
027 |sEied -0 d it i 700
928 |F.+ HHh-372 kB G 500
929 |gg. H3ARI M- 2B GR 2,500
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930 |# & il 300
031 |#74 25w pAc2 BES 2,000
932 |#74 R K-EEH L ULER LR 200
933 |#74 S EIRIF} 300
934 |#74 w2t thiite 200
935 |A 313 RIS BIRBF 1,000
936 | M ARERAFRT 1,500
937 |#74 5ol + A TFH# 200
038 |HEhA B A4 RS FHR(AKRY #7) 700
939 |#74 A FIHRR-B BN SHRIF 2,400
940 |#74 ok A FIRAE-A I B BEHF I LpGE 2,400
941 (374 2EH-IHA 173
942 |#74 IEH-F RAE 173
943 |} 14 2% 250
044 |Z % f % kA4 6,000
945 |3 7 p @R BB diF 100
946 |2 BXE ORV L) 440
047 |75 sask s i A $5 6,000
948 [%2%% 1% -kPGH# % 2,800
949 [MEX kLT RIS 2,000
950 |4 1 ¥4 300
051 |A 1 &4 2 4 &% 1,300
952 |¥ - ALK T 16,000
953 | d Koif PR dmie B ) 6,000
054 |#§er 8 A £ v 2,500
955 |WASHING SPERM 1,800
956 |ARTIFICIAL INSEMINATION 2,500
957 |OOCYTE RECOVERY 7,550
958 |EMBRYO CULTURE(<4EGGS) 8,000
959 [sr7x4¢ » (cab) 5,000
960 |%a%548 » (F §7) 5,000
961 |GIFT 4,000
962 |GIFT CULTURE 4,500
963 |SPERM SEPARATION 5,000
964 |[EMBRYO CULTURE(>5EGGS) 10,000
965 |SPA 3,000
966 |SEMEN STORAGE 1/1 M 500
967 |SEMEN STORAGE 3/6 M 1,500
968 |SEMEN STORAGE 6/1 Y 3,000
969 |SPERM MAR TEST 500
970 |LAPAROSCOPY 3,000
971 |FOLLICULO METRY 800
972 |HYSTEROSCOPY 2,500
073 |#3 FXE (iF =) 100
974 |¥kBHhriEER 622
975 |Embryo cryopreservation 4,900
976 |Embryo Thawing 2,000
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977 |Embryo Co culture 12,000
978 |FISH test 15,000
979 |Semen Analysis(+Ab) 2,000
980 [ICSI/5%F 12,000
981 |Assisted Hatching 11,000
982 |Blestocyst Culture 5,000
983 |A#p & L2EA L 21,000
B4 [BAE=KRFAWE 3,000
985 [+ g EAY HA(E 3) 1,500
086 |## & #13D2 4D 3 o B Y 1,000
987 [*nsp *t By 1,008
088 [ & #13D&F B ifkka 100
989 [LH Test 200
990 |F ik REF 300
91 |RFAFINEPF 800
092 [RGB 2 %0H% 500
003 [Atsus % F pREY 3,000
994 A5zt * g (6 ) 500
995 (A s ki * 3 (2] FF) 250
9% |* I RBHE AT RRE 2,000
997 [* Fivf ¥ %5 % 600
998 [MESA(#i# & *» &) 5,000
999 |TESAR 1 > %) 7,900
1000 |47 &2 % (Embryo Biopsy,Embryo Culture,ICSI) 1,000
1001 |JAH( % 1 “&i)/3F 5,000
1002 |ieie & & 400
1003 [Semen cryopoeservation g2 % 2,500
1004 [Semen analysis(## &.) 500
1005 |4 R o Al % 500
1006 |Culture(Sperm)(#% A3z £ /%) 500
1007 |%2.75*7 % (53E) 5,000
1008 |7x 52 R4 5 800
1009 |# B A p* o FHEET 400
1010 | & B2 X "k ik B 5% 1,000
1011 |8 P-2 FAFTFHIEERE 1,000
1012 | B B 5 ik geis 200
1013 |3 g HEA TP 183 35
1014 33 (2 Y ) 300
1015 (A5 A BED 2,500
1016 PR 4 EB (AP LHET) 400
1017 |4 ja ik Esr A2 ¥ 1,000
1018 [P-i# 4 24 7% 13,000
1019 (¥ {42 5 P2 3 18,000
1020 [F P F %5 6,000
1021 | i& 4 2% %% 10,000
1022 (i 2 f2 ik 5 3,000
1023 | &g g2 ICSI 15,000
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1024 |5 ifk 2 °F Rl 200
1025 |B~“F R 3k % fd 17,000
1026 |B~F £ fiF 6,000
1027 [+ 1§45 B 2 AR 8,500
1028 | g Fp ALk RIS 400
1029 |4 =& 3 “F w32 % 2,000
1030 | #F sm %% A2 DO 5,000
1031 | #F 40 % jcis 2,500
1032 |42 4 @28 500
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